
Demo Box Lens Retrofit - C Series Fixed Focal Length Lenses
No Item Serial No. Qty
1 EO-DXX-070-01-EX02 SQ PLATE 1
2 EO-DXX-070-01-EX01 CLAMP 1
3 PM-ADAPTOR-01(REV02)-ADAPTOR RING M25.5 1
4 PM-ADAPTOR-01(REV01)-ADAPTOR RING M30.5 1
5 PM-ADAPTOR-01(REV01)-ADAPTOR RING M27 1
6 PM-ADAPTOR-01(REV02)-ADAPTOR RING M37.5 1
7 LSQ2-00-070-3-W-24V LTB20Q28484 1
8 F-DXX-070-1-RGBW-24V LTB20Q28489 1
9 DLA-00-070-DIFFUSER 1

10 DLS3-45-070-DIFFUSER 1
11 DLS3-60-070-DIFFUSER 1
12 AZURE-MC27 PRISM 1
13 Strew box 1

Demo Box Camera Retrofit - Hikvision
No Item Qty
1 CC-D28-01 1
2 RTF-CBR-01-EX01 1
3 RTF-BHLQ-01-EXO1 1
4 RTF-HBBQ-01-EX01 1
5 EBR-EXTRUSION-03(REV01) EBR-M3 NUT-100 2
6 ROTATE-BRACKET-BARLIGHT 2
7 CAS2-00-040-BRACKET 1
8 Strew box 1



Demo Box Lens Retrofit - Optart
No Item Serial No. Qty
1 OP-C102-D50-01-EX01 1
2 OP-C102-D38-01-EX01 1
3 EO-C102-D32-01-EX01 1
4 EO-C102-D30-01-EX01 1
5 F-DXX-D100-1-RGBW-24V LTB20Q28498 1
6 Strew box 1

LIGHTING BRACKET DEMO BOX
No Item Serial No. Qty
1 ROTATE BARLIGHT BRACKET 1
2 CAS2-040-BRACKET 1
3 MLBX2-2-BRACKET 2
4 LBRX-6-BRACKET 2
5 LBRX-3-BRACKET 2
6 BHLX3 BRACKET 4
7 MLBX2-BRACKET-L 1
8 MLBX2-BRACKET-R 1
9 LBRX-BRACKET-L 1

10 LBRX-BRACKET-R 1
11 IDS5-100-BRACKET 1
12 SCREW BOX 1



CAMERA RETROFIT
No Item Serial No. Qty

1 36 1
2 EBR-EXTRUSION-03(REV01) EBR-M3 NUT-100 2
3 RTF-BHLQ-01-EXO1 1

1 29 1
2 EBR-EXTRUSION-03(REV01) EBR-M3 NUT-100 2
3 RTF-BHLQ-01-EXO1 1
4 BHLQ-00-240D55-X-R-24V  LTB20E37269 1

1 EBR-EXTRUSION-03(REV01) EBR-M3 NUT-100 2
2 RTF-CBR-01-EX01 1
3 CAS2-00-040-BRACKET 1

1 29 1
2 EBR-EXTRUSION-03(REV01) EBR-M3 NUT-100 2
3 RTF-CBR-01-EX01 1
4 ROTATE-BRACKET-BARLIGHT 1
5 LBRX-00-080-3-W-24V  LDDP63235 1
6 LBRX-00-080-3-W-24V  LDDP63234 1

1 EBR-EXTRUSION-03(REV01) EBR-M3 NUT-100 2
2 RTF-BHLQ-01-EXO1 1

LSW2

BHLQ

CAS2

LBRX

HPD2


